—uuarTCcol Bl

2015+ Ford F150 SuperCrew 5.5ft Box Boss Bar
Installation Instructions

Congratulations on your purchase of a high quality PUTCO product. Should you
need any application or technical assistance feel free to call us at: 1-800-357-9261
Monday-Friday 8:00 a.m. - 5:00 p.m. (Central Standard Time)

Contact your PUTCO dealer for other quality accessories.

Please read all instructions before installation and to check to see that all parts are included.

KIT CONTENTS:
Description Qty. Tools Needed:
Driver Bar (1784) 1 - 13mm Wrench
Passenger Bar (1785) 1 - Torque Wrench
Mounting Bracket (2022) 4
M8 Hex Nut (282) 16
M8 Hex flange bolt (278) 16

Boss Bar Installation

1. Remove Boss Bars from packaging. Check to see if all parts from above table of kit contents are

included.

2. Factory running boards need to be remove prior to installation, if equipped. Supplied
brackets will mount in factory locations.

Driver Side Installation

3. Install front bracket in front location. (Figure 1)
Use 3-4 M8 Hex Nuts to mount bracket to studs
on the under body of the truck, leave loose.

Note: There may only be 3 studs on the truck to
attach each bracket.

4. Install front bracket in front location. (Figure 2)
Use 3-4 M8 Hex Nuts to mount bracket to studs
on the under body of the truck, leave loose.

Figure 1

LIMITED 90 Day Limited WARRANTY

Putco guarantees it’s Stainless Steel and Aluminum products against defects in workmanship and material for as long as you
own your vehicle. All painted products have a 90 day warranty on the painted surface. Any defects resulting from faulty
material or workmanship will be warranted by Putco and repaired or replaced at our discretion. Putco assumes no extra labor
costs. Damages caused by freight carriers, improper installation, misuse, collision, or neglect will not be warranted by Putco.

12/2/2015-JW 451601



—uUuarTCcol Bl

Figure 3

5. Attach the step tube to both brackets
using (4) M8 flange bolts on each
bracket. (Figure 3)

6. Tighten all bolts to secure bar. M8
flange bolts are to be torqued to 13ft-
Ibs. The body bolts are to be torqued
to 20ft-Ibs

Passenger Side Installation

7. Repeat steps 3-6 for installation of
passenger side step. Enjoy!!

LIMITED 90 Day Limited WARRANTY

Putco guarantees it’s Stainless Steel and Aluminum products against defects in workmanship and material for as long as you
own your vehicle. All painted products have a 90 day warranty on the painted surface. Any defects resulting from faulty
material or workmanship will be warranted by Putco and repaired or replaced at our discretion. Putco assumes no extra labor
costs. Damages caused by freight carriers, improper installation, misuse, collision, or neglect will not be warranted by Putco.

12/2/2015-JW 451601



